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Calculate the following formula.

=N b AN

151 RH 1 R

D x+ x D a+a+a
= 2 x

@ xxx ® axaxa

® 2x2 + 32 ® 3a3+ 4a3
= (2+3)«?
= 5 xZ

@ 2x3%x 3x3 @ 3a3x4 a3
= 2 X3 xx3 xx3
= xé

® 2xy + 3xy ® 5ab+ 2ab
= (2+3)xy
= 5 xy

® 2x2+ x2 ® 3a2+ a2
= (2+47)x?
= 3 xZ

@D 6xy—2xy @D 6ab —4ab
= (t—2)xy
= 4 xy

(3 x)2 (2 x)3
= (3 xx)x(3 xx)
= @ xZ

oF U gk

2. Yk@ﬁ‘ﬁ- VA J:o Calculate the following formula.

nn En bHAEN

11| #E ] A

®© BGx+4)+@2x+ 1) ® 6x+ 49+ Bx+ 2)

= 5 x+4+2 x+7
= G6+2)x+H+7)
7 x+5

x + 4)—
= bx+4—2x—7

= (6= x+H#—7)

3 x+3

2x+ 1)

@ (6x+ 4)—Bx+ 2)

x— 1)+ (—
= 4 x—7/—2 x—7

= (U—-2)x+(=7—7)

2x — 1)

@ (7Tx— 2)+(—3x+ 4)

6 x2—3

= 2x—12
@ dx—1)—(2x—1) |@® (7Tx—2—(—3x+4)
= 4 x—7+2 x+7
= (U+2)x+(—7+7)
= 6 x
® 3(2x2— 1) ® 2(3x2— 2)

= 3 %x2 x2+3 x(—7)

3.

4.

DAY

/j’( D J‘ D n+§- VA J: Calculate the following formula.
=N b AEN
151 R ] &
©) 5x2 +4x +3 |OD 6x2 +5x + 7
+) 2 +2x +1 +)  2x2 +2x + 2
7 x?2 +6 x +4
® 5x2 +4x +3 |® 6x2 +5x + 7
— 2%2 +2x + 1 —) 222 +2x +2
3 x? +2x +2
® 5x2 +4x —2 |® 5x2 — «x + 3
+) @ —4x+3 | +) —5a2 +3x —2
b x? +7
@ 5x2 +4x —2 |@® 5x2 — «x + 3
-] —3x2 —3x — 2 -] —2x2 +3x + 3
& x? +7 «x
oE CLELHiTA ’d‘L\L? E\J\:
WD Ko Lx, BRLAZRDZ IV,
Find the formula A under the following conditions.
PR A i L? R L? <b R
BEO R 2+6x+4cBRKAZMZTD
—x24+ 2x+ 612712 5,
(%2 +6 x+4)+A=(—x2+2 x+6)
A= (—x24+2x+6)—(x2 +6 x+4)
= —x?+2x+b6—x2 —6x—4
= —2 x?2 —4 x+2
b AN HILE <b
HEO iféﬁ 2+ 2x + 4l CEXAZMATZD
22— 2x+ bl 5B,
FOLAN SR T L& zil\
BlEEQ #HXNAZ2METHE2x2 +6x+ 41275,
Ax2=(2 x2 +6 x+4 )
2
A= 22 +6 x+4)+) = 2% Eé xt4
= x2 +3 x+2
H AT &L\Lé‘r zil\
] RH E@ BRXAZ3IHETHE 922 —3x+ 612785,
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1. /j’(@ n+§- %V@'J: (ﬁnﬁr) Calculate the following formula.

foil i

O (+4)+(+2) =+(+2) |© (+5)+(+2)
=%

@ (+4)+(—=3) =+0—25 |@ (+6)+(—3)
=7

@ (+2)+(—2) =+02-2) |® (+1)+(—1)
=0

@ (+1)+(—=8) =—(t—1) |@ (+3)+(—4)
= —7

® (—1)+(+49) —+0—1 |® (—4)+(+2)
=3

® (—3)+(+3) =—(-3 |® (—2)+(+2)
=0

@D (—4)+(+5) =+0—0 |@D (—2)+(+5)
=7

(—3)+(—3) —(3+3) (—4)+(—4)
= —4

T L& Junsa

o, WOHKXDHE 2 L,

Calculate the following formula.

O (4x— 1)+ (2x — 1)
= 4 x—7+2 x—7

= U+2)x+(—7—7)

= 6 x—2

O (5x— 4)+(2x— 4)

@ (x—4)+(-8x+ 1)
= x—4=8&x+7

= (—8&)x+(—4+7)

@ (Sx— 2)+(—4x+ 5)

= —7 x—3
® —4x — y +4 [© —2x —4y +6
+) 5 — y —3 + 5x —4y — 3
x —2y +7
@ —4x —3y —4 |@ —3x —2y — 2
+) x +3y+5 +) 4x +2y —5
—3 x +7
® —4x2 +3x+3 |® —4x2 4+ x —4
+) 2x2 —3x — 7 +) 2x2 — x +5
—2 x2 —4

3.

4.

DAY

Fh r'}‘iu
Om H)

/j’( D n+§- VA J: Calculate the following formula.
foi ]
O (+4)—(+2) @© (+5)—(+2)
=(++ (=2 = 2
@ (+49—(-3) @ (+6)—(—3)
=(+9+(+3) = 7
©® (+2)—(-2) ® (+1)—=(-1)
=(+2)+(+2) = 4
@ (+1)—=(-9) @ (+3)—(—4)
=(+N+(+8) = 9
® (=1)—=(+4) ® (—49—(+2)
=(=nN+(=4) = =&
(—3)—=(+3) © (-2)—(+2)
=(=3)+(=3) = —6
(—4)—(+5) @ (=2)—(+5)
=(=)+ (=5 = —9
(—3)—=(-3) (—4)—(—4)
=(=3)+(+3) = 0
& D %% bé D l:db‘ ;ﬁt H &L ° Calculate the following formula.
O (4x—1)—2x—1) |O (Bx—4)—(2x— 4)

= 4 x—7—2 x+/
= (=2 x+(—7+7)

= 2 x

) (x— 4)—(—8x— 1)
= x—4+8& x+7

= (+&)x+(—4+7)

(Sx— 2)—(—4x+ 5)

= 9 x—3

® —4x — y+4 |© —2x —4y +6
—) 5x — y —3 — 5x —4y — 3
—9 x +7

@ —4x —3y —4 |@ —3x —2y — 2
— x +3y +5 — 4x +2y — 5
—5x —6by —9

® —4x2 +3x+3 |® —4x2 — x — 4
—) 222 —8x -7 | —) 2 + x+5
—6 x2 46 x +/70
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Find the coefficients and degrees of the following monomial.

I HA WD
f5il /E i
D 3«x D 5a
(TL\?',iv r ?',5 (T%?’/i C ?’/5
BRE 3 Y / R Y
@ x2 @ a?
(TL\?',iv r ?',5 (T%?’/i C ?’/5
BRE 7 Y 2 R Y
@ —6xy @ —4ab
m\?‘,a r Ta m\?‘,i r Ta
B —¢ wH 2 R WA
@ 3xyz [x,yz’ﬁj@(%] @ —b5xyz [x,yz’ﬁj@(%]
iU T,i L 35 m\?‘,i ¥
R 3 2 Y 2 £ 2K Y
% T 5 T
® —xy [x @ 2 05] ® —xZy MCES &3
m\?‘,i r Ta m\?‘,i ¥
R —y W 7 R Y
o . ZHLE C 35 b
2. kOZHA DY RO L,
Find the degree of the following polynomial.
A HA WD
f5il /E i
O 2x+ 5 O 3x— 6
r ?’/5 C ?’/5
w7 !
@ x3+6x+9 @ 2x2— 4
r ?’/5 \Ii ?’/5
/O] !
ek Lg (szi,/:
3. Yk@it@ﬁ‘ﬁ VA J:o Calculate the following formula.
o HA WD
f5il /E i
O x+x @® at+tata
= 2
@ xxx ® axaxa
@ 2x + «x @ 4a+a
= (2+/)x
= 3 x
@ 2x — «x @ 5a—a
= (@2-Nx=17x
= X
® 2xxx ® 4axa
= 2 XxXx
= 2 xz
® 6x2— 2x2 ® 6a2 — 4a2
= (6*2)x2
= 4 xz
@D 3xy —4xy @ 2ab—Tab
= (-9axy
= —xy
(—4 x)2 (—2 x)3
= (4 xx)x (=4 xx)
= /6 x?

Calculate the following formu

la.

ek4 L& DAY

4. ROXDOFHEEH L,
nwn
15 B

HA N

i

aic

®© BGx—4)+@2x—3)
= 5bx—4+2x—3
= (5+2)x+(—4-3)

= 7 x—7

O 2x— 1)+@Bx— 4)

@ 2x—4)—(Bx—3)
= 2x—4—5x+3
= (Q2=5)x+(—4+3)
= —3 x—7

@ 2x—3)—(6x—1)

@ 2x—5)+(—2x+ 3)
= 2x—5—-2x+3
= (2—-2)x+(—5+3)

= 2

@ B3x— 4)+(—3x+ 1)

@ 4x+1)—(—x+1)
= 4 x+/+x—7
= W+ x+(G—7)

= 5x

@ Bx+ 2 (—x— 2

® 202+ 3x— 4)

= 2 xx24+2 x3 x+2 xX(—4)

® 4@2+2x— 1)

la.

= 2 x?+6x—F¢
oF L& DAY
5. Yk@it@ﬁ‘ﬁ%ﬂi’io Calculate the following formu
nn En bA WD
15 7H R
@ 4x2 +4x +3 |D 3x2 +5x — 2
+) @ +2x -3 | +) 2x2 —2x +2
5 x4 46 x
@ 4x2 +4x +3 |® 3x2 +5x — 2
) ®+2x-3 | —) w2 —2x+2
3 x? +2 x +6
® 322 +3x —2 |® 2x2 + x + 3
+) 5x2 —38x+3 | +) —2x2 —3x — 2
§ x? +7
@ 3x2 +3x —2 |® 2x2 + x + 3
~) 5x2 —3x+3 | —) —2x2 —3x —2
—2 x? +6 x —5
® 522 +3x —2 |® 2x2 + x + 3
—) —2x2 +4x—5 | —) —3a2 +2x —2
7x2 — x +3
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1. KOBXOFHEEZE L,

Calculate the following formula.

O (5x+3)+(2x+ 1)
= 5bx+3+2 x+7
= (6+29x+G+7)

= 7 x+4

® (6x+ 5)+(3x+ 2)

@ (5x+ 7)+(—22—1)
= 5x+7—2 x—7
= (6—Dx+@—7)

= 3 x+6

@ (4x+ 5)+(—2x— 3)

@ (2x— 3)+(—3x—4)
= 2x—3—3 x—4
= (2-3)x+(—3—14)

= —x—7

® (2x— 4)+(—6x— 5)

@ (—Sx—f— 1)+<x— 5)
= 3 x+/+x—5

= (=3+Nx+(7—9%

@ (—4x+ 2)+<x—6)

= —2x—4
® 5x +4y +3 |® 5x + y +2
+ 2x + y +3 +) x +3y + 2
7 x +5y +6
® 2x + y—1 |® 3x + y —2
+) 4x —6y —3 +) 4x — Ty —5
bx —5y —4
@ 3x2 +4x +7 @ 2x2 +5x + 6
+) 2 +3x +1 +) 2 +2x + 2
4 x? +7 x +¢
2x2 —4x — 2 3x2 —bHhx — 1
+) 522 —2x+3 | +) 522 — x+4
7 x%  —6 x +7
©) —2 x2 -2 |©@ —2 x2 )
+) 322 +2x —1 +) Ba? +4x+1
x* +2x —3

oF HLx Junasa
2. WOBKXOFFEEE L,

Calculate the following formula.

® (6x+5)—(3x + 2)
= 6xt+t5—3x—2
= (6—3x+(—2)

= 3 x+3

O (5x+3)—(2x+ 1)

@ (4x+ 5)—(—2x— 3)
= 4 x+5+2 x+3
= (#+2)x +(5+3)

= 6 x+¢

@ (Bx+ 7)—(—2x— 1)

@ (2x — 4)—(—6x— 5)
= 2x—4+6 x+5
= @+6)x+(—4+5)

= § x+7

® (20— 3)—(—3x— 4)

@ (—4x+2)—(x— 6)
= 4 x+2—x+6

= (4= x+(2+8)

@ (—Sx—f— 1)—<x— 5)

= —5x+¢
® 5x + y+2 |® 5x +4y + 3
—) x +3y +2 —) 2x + y +3
4 x —2y
® 3x + y—2 |® 2x + y —1
—) 4x —7y —5 ~) 5x —6y —3
—x +&y +3
@ 2x2 +5x +6 |@D 3x2 +4x + 7
—) 2 +2x + 2 —) 2 +3x +1
x* +3x +4
3x2 —5H5x — 1 2x2 —4x — 2
—) 522 — x+4 | —) 522 —2x+3
—2 x? —4 x —5
©) —2 x2 -3 |©@ —2 x2 — 2
—) 5x2 +4x +1 — 3x2 +2x — 1
—7 x? —4 x —4
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Calculate the following formula.

=N HA WD
151 RH il
DO x+x+x D a+at+a+t+a
= 3 x
@ xxxXx ® axa
@ 22 + x2 ® 3a3+ a3
= (ZJr/)ac2
= 3 xZ
@ 2 x3 X x3 @ 3a3xad
= 2 xx3 xx3
= 2 xé
® 2xy —3xy ® 2ab—6ab
= (2-3)xy
= —XxYy
® 2x2— x2 ® 3a2— a2
— (-N)a? = 7 a2
@D 6xy—2xy @D 6ab —4ab
= (t—2)xy
= 4 xy
(3 x)2 (2 x)3
= (3 xx)x(3 xx)
= @ xZ
oF ERAR-Y
2. Yk@ﬁ‘% VA J:o Calculate the following formula.
nn En bA WD
11| RE i e
O Bx—4)+@2x— 3) O 2x— 1)+(Bx—2)
= 5 x—4+2x—3
= (6+2)x+(—4-3)
= 7 x—7
@ Bbx—4)—(2x— 3) @ 2x—1)—Bx—2)

= b5 x—4—2x+3

= (5—2)x+(—4+3)

3 x—7

@ 2x—1)+(—2x — 1)
=2x—/—2x—17

= @—2x+(=7—7)

—2

@ Bx— 4)+Gx+

@ 4x—1)—(—2x—1)
= 4 x—7+2 x+7

= W+2)x+(—7+7)
b x

@ Bx—4)—BGx+

® 22+ x— 3)
= 2 xx24+2 xx+2 x(—3)

2 x24+2 x—6

® 4(x2+x—2

DAY

N ERe

o

Calculate the following formula.

N HA WD
f5il /E 1 R
@ 4x2 +4x +3 |O 6x2 +5x + 7
+) @ —2x -3 | +) 2a2 —2x +2
5 x2 +2 x
@ 4x2 +4x +3 |© 6x2 +5x + 7
—~ 2+ 4x —3 —) 622 +2x —2
3 x? +6
©) 5x2 +4x —2 |® 2x2 + x — 4
+) 22 —5x—3 | +) —a2—38x -2
7 x4 — x —5
@ 5x2 —4x — 2 |@ 2x2 — x — 4
—) —4x2 —5x + 3 -] —2x2 —3x + 2
9 x?2 + x —5
o CLELHiTA ’d‘L\L? @3\:
4. ko FMHoLx, BNAZKRDRI W,
Find the formula A under the following conditions.
nn En )¢L\L§ ’¢L\L§ [0
FEO #HXAPDL B 2+3x—1%25< &

A—(x2 +3x—7 )= (—2x2+ x—2)

—2x2+ x— 22 B,

A= (—2x2+ x—2)+(x2 +3 x—7)
= 2x2tx—2+x2 +3 x—7/
= —x? +4 x—3
H AN i L& i L [
HEO BXAMS, EX 242 +x—1 %25 &
—x2+x— 2B,
nn = T L& b
GlRE@ FEXAZ2THDE 22+ 2x+ 312725,

A+2 = (22 +2 x+3)

A= (22 +2x+3 )x 2= 2 xx24+2 x2 x+2 x3
= 2 x? +4 x+6

b AN )¢L\L§< b

HEQ® #AXAZ3TEILE 22 +5x — 2125,
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Calculate the multiplication of the following monomials.
v e LA
15 R4 i
O 3xx4y D2x%x5y
= 3 X4 XxXxXy
= /2 xy
@ 3yx(—5x) @2yx(—4x)
= 3 x(=8)xyxx
= —/5xy
® (—4b)x(—5a) @ (—3b)x(—6a)
= () x(=5)xbxa
= 20 abd
@ (—3¢) @ (—2x)
= (=3 x(=8)xexe
= 9 ¢
Th ZHLE U\tl‘iﬁ (j]t\é/u
&@a@ﬁ@%~@ﬂ§%ﬁ;o
Calculate the division of the following monomials.
o fZn HA N
151 74 i /&
@® 6xy+(—3x) D 8xy=(—-2y)
*3\&
@ (—12xy)+ 3y @ (—10xy)+ 2x
4
_ Xy
RN
® (—15ab)+(—5a) |® (—10ab)=(-5b)
3
_ _—rbeb o,
R
@ 6a%2b+ 3a @ 8ab%2+20b
2
b xXaXaxb
7—/3\><\a =2 abd
® 12ab + 2 a2 ® 14ab -+ 2b2
2 xaxb 4 b
QSX\Q,XQ, a
® 4ab+6a%b ® 10ab + 4a b
2
O AXeXb 2
B 36\><a><a><& 3 a
@D 3ab+6aZb @ 2ab+ 8ab?
i
3 Xaxb ]
o z@s\Xaxaﬂz - 2a

3.

£ B |

eks L& DAAR-YY

/j’(@@ E\J‘ n+%:%’@:io

Calculate the following monomial.

?ZJE'JE%LE@) 252y Xy + xy2

2 X x X Xy X\y
X XY Xy

= 2 x

bh

i 2

2

MO 3xy2xy + xy?

I
BIEQ x2y + y2x4xy2
XXxXyX 4 XxXyXy

AXN

= 4 x%y

7z

HQ xy2 + x2x2xy

b A

i

%J%;E@ x2y + 4xy2 +2xy
x X% Xy /

4XEXYXYX 2 XaxXy § oy
i i @ wy2 = 6x2y + 2xy2
?ZJE'JE%LE@ (—83xy)?xd4y=(—242)

2
- (53) x> x Y

:ﬂiﬁ@ (—2xy)?x3y=(—2,2)
v En 4 x2 Xy 4 x2 6 y2

4 xxxxxz\& Xy Xy o x

Axyxxxy

b ED 5y2 2y2
RE© 6 x 3xy
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Th o LE Crolxsd (ﬂi/{_
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Calculate the multiplication of the following monomials.
ey HAED
i il
O 3xx8y D7x%x6y
= 3 X§ XxXxXy
= 24 xy
@ 4yx(—5x) @6yx(—8x)
= 4 x(=8)xyxx
= —20 xy
® (—-9b)x(—5a) ® (—3y)x(—9x)
— () (-5)xbxa
= 45 abd
@ (—2x) @ (-3y)
= (=) x(=2) xxxx
= 4 &
Th o LE U\tl‘iﬁ (jbxit
KD I 0 B ik 0 B Rk
Calculate the division of the following monomials.
A D AR
i il &
®6xy+(—2x) D 8xy=(—4y)
*2\\%”

@ (—12xy)+ 2«

® (—14ab)+(—2b)

. S%0wab
- A

@ 6a2b+ 2a @ 8ab?2+20b

3
b xXaXaxb
7—72\><\a = 3 abd

® 10ab + 2a? ® 14ab+ 702

fooxaxb 5 b
QSX\Q,XQ, S a

® 6ab-+2a2b ® 8ab -+ 4ab?

_ hoxexh 3
772\><a><a><{9\7 a

@ 9a2b+3ab @ 10ab2+2ab

- %\x aXeXb
— —/3\ b

3.

£

oF AN Y2
Ko A T B & X,
Calculate the following monomial.
nwrEn

BIED 3xyxy2+ x2y
3 XWXy XyXy 3 y?
a x XXXy X

bW

MEO 3x2yxy + xy3

nwn
BIREO x2y +~ xy2x2x2y

_ XXXEXPX 2 XxXx Xy 9 43
Xy Xy

7z

HQ xy? + x2yx3«x

b A

i

%J%;E@ x2y + 4xy2 +2xy
X XN Xy /

4XxXy Xy X2 Xxxy &y
b N
MEO® x2y% + 3xy2 + 2x2y
nwn 9
@ ( 2xy)><3x—( —422y2)
/
N (N)X\gcx\_y x(— )X\xxyxg Xx o
() s e ey xy
bW
HE®D (—2xy)x6y+(—8xy2)
e En 5y2 N 10y _ 5y2 322
PIEe 4xz = 322 4xz 10 y
/
L _OXyXyX3 XeXe 3yz
a 4 xxxgX K Xy S fx
bAED 6y2 2z
HE® 5z 3xy
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EOHELEE X,

Calculate the multiplication of the following monomials.

0 b

151 R R A

O 3xx5b5y D3xx6y

= 3 X5 XxXy

= /5 xy

@ syx(—6x) @6yx(—2x)

= 5 x(—6)xyxx

= —30 xy

® (—2b)x(—3a) @ (—3y)x(—4x)

= (-2)x(-3)xbxa

= 6 ab

@ (—4x)? @ (—5y)

= () x(—4)xxxx

= /6 &

h 29 LE CLrizd BAAR-¥

2.&@@@&@%*@%%%@;0

Calculate the division of the following monomials.

nn En HA N
f5il /E i &
D 8xy=+(—2x) D 6xy=(—2x)
&Wy 4y
O Aw
@ (—24xy)+ 4y @ (—24xy)+ 3x
:_ZE&&L::*éx
Ky
® (—20ab)+(—4a) |® (—15ab)=(—-30)
50w -
7—*/4@& —
@ 8a’b+2b @ 6ab+ 20
4
R X axaXbh 2
—72\><\b = 3 a
® 14ab+ 20b2 ® 27ab + 3a?
- /7\#\><a><b _ 7a
%xbxb\ b
® 6ab+3a2b ® 8ab -+ 2ab?
 bxwxh 2
B ﬁ\xaxax&* a
@ 6a2b+3ab @ 10ab2+5ab
- %\Xaxaxbi 7 a
7—/3\><\qu —

3.

£ B

eks L& DAAR-YY

/j’(@@ E\J‘ n+%:%’@:io

Calculate the following monomials.

nwn 7w

BIEO 3xy ~xy2xxy

3 X Xy X x Xy
X XWX

bW

MEO 8x2y ~ x2yxy

%J%‘;E@ x3y2 = xy + xy
X %X X% X Op Xy

XXy X XXy

- X

o

HQ x3y2 + a2y + x

bh

i

nwn
BIE® 442y ~ 2xy2x2xy

4X o XN XNy XN X x Xy

= 4 x?

RXgx Ry Xy

b
]

HO x2y3 + 3xy2x64a2y

o ED 3y 5y _ 3y 2z
plE@ 4xz 2z 4xz 5y
7
3 XyxXW Xg 3z
7§X\Xx><\g><5><\yi 70 x
b N 6y 2y
@ 5z 5xz
nwn En 3y N 5y N 3z
PIE® 4x 2z = 10«x
_ Yy AE X
N2 5 Y7
ba N 3 y . 3 y . 3 y
W 2x 2z 2 x




